
Answers to work set 25th May 2020. 

English 

A   Q1 Peaches    Q2 A monk    Q3 He planted the peach stone in the ground.    Q4 The monk grew a 

peach tree and invited people to each take a peach for free.  Q5 He saw that all his peaches had 

gone. 

B      1  (b)  2 (a)   3 (c)   4 (d)   5 (b)   6 (c) 

C      1. Places   2. Arrived   3 Tramp   4  Deny   5 Asked  6 Enraged 

D   1 (c),   2 (b)    3 (a)     4 (d)    5 (b) 

E 

1. Joe travelled from his tiny village of Hao Chu, in China. 

2. “Where could I set up my stall?” he asked. 

3. “Could I have some water, please?” the monk asked the crowd. 

4. The peach tree will have grown tall by Monday. 

5. “Can we each eat a peach?” Su Yin asked the monk. 

6. By Sunday evening the farmer was tired and weary. 

Mental Maths    

Monday: Q1 = 850    Q2 = 18    Q3 = 2    Q4 = 6    Q5 = parallel    Q6 = 44    Q7 = 800     Q8 = 50     

Q9 = 10      Q10 =    35c      Q11 =  11    Q12 = 9 x 6 =(5 x 6) + (4x6) = 54     Q13 = ¾    Q14 =  16  

Q15 = Parent check    Q16 = 90   Q17 =  4      Q18 =   3/10, 1/2 , 6/8   Q19 =5    Q20 = 4   

Tuesday 

Q1 = 16    Q2 = 21   Q3 = non-parallel   Q4 = 150    Q5 =  8     Q6 =  3    Q7 = 40    Q8 =  yes   Q9 =  21   

Q10 = 44.6    Q11 = 28      Q12 = 7      Q13 = 8   Q14 = 70   Q15 =  0.3  Q16 =   5 past 8 or 8:05    Q17 = 

49   Q18 = hexagon   Q19 =  280  Q20 =  1 euro 

Wednesday 

Q1 =  775   Q2 = 50   Q3 = 7   Q4 = 8   Q5 =  400   Q6 = 700     Q7 = 77    Q8 =  24     Q9 =  5    Q10 = 8   

Q11 =  27     Q12 =  6     Q13 = 9    Q14 = parent check    Q15 = 6.70 euro    Q16 = 30       Q17 = fly  Q18 

=  10    Q19 =    dragonfly  Q20 =  25 

Thursday 

Q1 = 0.9    Q2 = 24    Q3 =  7 r 3   Q4 =  parent check   Q5 =  9     Q6 =   60    Q7 =  12    Q8 =  8   Q9 = 

2/10, 4/8, 3/4    Q10 =  A    Q11 =  360       Q12 =  790      Q13 =  6    Q14 =  25    Q15 = 5   Q16 =  25     

Q17 = 6    Q18 =  20kg     Q19 = 3, 48    Q20 =  parent check 

 

Problem Solving 

Monday   Q1    7.50 euro           Q2 = 225 

Tuesday     Q1 = lines at A  and D      Q2 =1.50 euro 

Wednesday     Q1 = 3 -8-4 across, down 7, 8       Q2 = across 1-7-3, down 4. 



Thursday     Q1  300km   Q2 = 450km 

Friday Review 

Q1 = 0.9    Q2 = 0.8   Q3 = 5   Q4 = 20km  Q5 = 7 r 3    Q6 = 20    Q7 = 21   Q8 =  3   Q9 =4     Q10 =  yes  

Q11 = 16     Q12 = 10     Q13 =across 6-5, down 2, 5, 4    Q14 = 920   Q15 =  50   Q16 =   2/8     Q17 = 

29  Q18 =  16  Q19 = 690    Q20 =  1, 44   Q21 = A     Q22 =   21   Q23 = 14     Q24 = true  Q25 2/8, 

6/10, ¾  

Gaeilge: 

Fíor nó breagach (true or false):  

A Fíor nó bréagach 

1. Bhí an Seó Bréagán ar an teilifís.      Fíor 

2. Bhí carr ag Liam.                                  Bréagach 

3. Bhí babóg ag Niamh.                           Fíor 

4. Kití is ainm don bhabóg.                     Fíor 

5. Chuir Liam Kití sa phram.                    Bréagach 

B Freagair na ceisteanna. 

1. Cé a bhí ar an Seó Bréagán?      Bhí Liam agus Niamh ar an Seó Bréagán. 

2. Céard a bhí ag Liam?                   Bhí leoraí ag Liam. 

3. Céard a bhí ar an leoraí?            Bhí solas buí ar an leoraí. 

4.  Céard a bhí ag Niamh?               Bhí babóg at Niamh. 

5. Céard a chuir Niamh ar Kití?      Chuir Niamh cóta agus caipín ar Kití. 

 

1. conchró = kennel 

2. cupán tae = cup of tea 

3. dearg = red 

4. leabharlann = library 

5. liathróid = football 

6. madra = dog 

7. ní maith liom = I don’t like 

8. rang = class 

9. sa ghairdín = in the garden 

10. sa gharáiste = in the garage 

 

 


